Practice problems

17th February 2006

Differentiate the following functions:
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Find the derivative of an implicit function: Rl
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Find the derivative -2 £ f~!(a) for the following f(z)and a:
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3. f(z) = z? coszanda=(27r) 4(@!')) _f’(‘f) ( )/K-—‘! 7
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Use linear approximations to find the approxm&:e values of the following ex
pressions:
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Approximate f(z) by a linear approximation: ',;‘3_‘.}* f‘. ,(: :‘
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Some other problems:

=1, find the limit limp_,o £ —bh:‘, where a, b}/a.re
some numbers.

2. Given that f'(z) = 3z —7Inz, compute the derivative 7 4 f(cos(z)). (Hint:
use the chain rule).
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